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1. Y RAMESHd e SEuR 91, Eieie e THE SRl Hivw] ?
(a) 9Ted SIVRT HEFTE! ael ST
(b) B SIS VR A werare

(c) IV forla whe

(d) =e-3I;[N FEen fafma

e I

1) (), @) () (2) (a), (b) o1 (d)
(3) (o) s (d) (4) (b) 30 (o)

What are the major reasons for consistent increase in the current account deficit of
India ?

(@) Rising expensive oil import

(b) Domestic inflation due to gold import

(c) Eurocrisis

(d) Volatile exchange rate

Answer Options :

(1) (), () and (0 2 () () and (@
- () (9 and (d) (4) (b) and (c)

2. TR I faumide! wive g R ?

(a) ‘T I gE SAfufEE’ 2013 91 N FHG HOAM A
(b) ‘ferdrw snfeie e srfufrem’ 2005 Sl FIF'LW.

it I

(1) ¥ (a) () ¥ (b) @) oA @ R
- Which one of the following two statements is correct ?

(a) “National Food Security Act’ was approved in the year 2013.

(b) ‘Special Economic Zone Act’ came into effect in 2005.

Answer Options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither

oAl RS SR /SPACE FOR ROUGH WORK

P.T.O.




NOe6

3.

4 A

‘F9’ (Council for Advancement of People’s Action and Rural Technology) & T &
T Fgt faswramere! e & @

(a) HTSTSAT HHSR SITel Hefes AT,

(b) mmwmmmaﬁmmm.

Fha Fivi faum smErg iR ?

W Fwe @ e o @ @ whm

‘CAPART’ (Council for Advancement of People’s Action and Rural Technology) is an
autonomous body related with enhancement of rural prosperity. It :

(@) strengthens hands of the weaker sections of the society.
(b) funds NGOs working in the' area.
Which one of the above two is incorrect ?

(1) Only (a) (2) Only (b) (3) Both " (4) Neither

WWW(WTO)WW&H mwﬁaﬂm atrﬁﬁwmro’rqqa
QA AT ? |

(1) T I - (2) < uieg
(3) wwa Awe (4) senfiEme sl Tfiee

Which is the conference of W.T.O. in which the ’Food Security Bill’ was sanctioned for a
specified period ?

(1) Kankoon conference (2) Doha conference

(3) Urugwey conference (4) Bali conference in Indoneshia

HEAT HTETETS I /SPACE FOR ROUGH WORK

e R
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5. e O faumiE SR dv a2
(a) e fefide sua Fiq HH 2 TIEUHAR I AHAW, e A Sl w

HHT 11 [AGI[hER ARTN.

(b) TRe fafiee Fuld Sdld S 50 [aav[HeR 7 Wehard, Ufsers fafaes ol &
mmaﬁm

(1) a’_"'a(a) : (2) %92 (b) (3) - 4) T TR

Which one of the following two statements is correct ?

(@) A Private Ltd. Company can have a minihum of 2 investors, a Public Ltd. Company
~should have a minimum of 11 investors.

(b)  APrivate Ltd. Company can have a maximum of 50 investors, a Pubhc Ltd. Company
can have any number of investors.

Answer Options : .. . ' -

(1) Only (a) ' (2) Only (b) (3) Both (4) Neither

6. W%WWlwlﬁzmomwmwmwm7
(a) TfEdt AR
(b) foxfta @a=n
(c) TRLIE 9 9T
(d) IR A HewT
(e) T

1) (a), (b), (d), (e) (2)  (a), (&), (B, (g)

3) @, ®) () @ 4) (@), (b), () (¢) |
In Maharashtra state which of the following sectors got the highest Foreign Direct
Investment FDI between 1991-2010 :

(a) Information Technology. .

(b) Financial Services

() Motor Vehicles and Transport

(d) Professional Managément consultancy

() Chemicals and Fertilizers

(f) Drugs and Medlcmes

(g) Textiles S

Answer Options :

O @OO60 @ @b 6e

®) @) b)) @ @ @ 0O

o

HoeAT HTHES ST /SPACE FOR ROUGH. WORK-
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7.

et e 4d war faer

(a)
(b)
(c)
(d)

&It
1985-86 3TaTd fatd €
1990-93 & fafa s
1991-92 1 Tt R
1997-02 3T frafd dwer

T I

1)
(2)
(3)
(4)

(@)
(b)
(€)
(d)

(a)
(id)
(iv)
)

(W)

1mport - export policy - 1985-86
Import - export policy - 1990-93
Import - export policy - 1991-92
Import - export policy - 1997-02

(®)
0

()
)
(i)

©
)
(i)
(iii)

(i)

Match the following and choose the correct code :

Answer Options :

(1)
2)
(3)
(4)

(a)
(i)

(iv)

@
(iv)

(®)
0

()
)
(i)

(<)
(iv)
(i)
(i)
()

Policy

@
()
0
(@
0

(iv)

anforey W
3TEVT %
=4 fam
1.5, e
. fegam

Commerce Minister
Arun Nehru-

V.P. Singh

B.G. Ramiyya

P. Chidambarm

HoAT HHEE WM /SPACE FOR ROUGH WORK
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8. A WY AW S WorHTen e Tl A S

(1) Smfdes s (WB) (2) ST A (IMF)

(3) S SR YRS (WTO) (4) FUGT §9SF (EU)

This organisation is considered as the third pillar of international economic relations :

(1) World Bank (WB) (2) International Monetary Fund (IMF)
(3) World Trade Organisation (WTO) (4) European Union (EU)

9. 1991 WEA W Hivren A Sl WA AT TR T T 2
(a) T9ar quf aREdeie ®eo
(b) waﬁwa?gwﬁaﬁ%gwm
(c) fodeht &l frasfavarardl geoi= aror e
(d) wmmﬁmmwﬁam

it I : ,
(1) (@) (b) (o) (2)  (b), (c) =nfor (d)
@) @@ 4) (@), (b), (c) 3T (d)

- In 1991, India faced a severe economic crisis as it had to :
(a) establish full convertibility of the rupee
(b) sell Resurgént India Bonds
(c) pledge gold to get foreign exchange loans
(d) physically transfer gold to the lender country
Answer Options :
(1) (a), () and (o ) () (© and d)
(3) (0 and (d) @ (@) () © and @)

HOAT HATHIES ST /SPACE FOR ROUGH WORK
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10. UL WHicH® FEwT I SR

(a) FF@ HfeaAT JENSRIHT

(b) T R

(c) M 9 HeAH SEm
(d) VREH AT SRTfas TaEen dis <ar An

it S
(1) (b) 3T () 2)  (a), (b) W ()

(3)  (c) enfor (d) » @) () el (d)
National competitiveness programme is for .

(a) Women entrepreneurs only

(b) Technology upgradation

‘() For small and medium enterprises

(d) Indian firms to face global competition

Answer Options :

(1) () and (0 (2) (@) (b and (9
(3) (c)and (d) (4) (b) and (d)

11. oI nfdeE HR0r (1991) GF FOAHR TRIerieh! Hiowam i Sehie T g ?
(a) TS W T SRS THRIHAS TG :
(b) HRATAT TYAT HA AR 45 TaRIe T
() VRIS WHY Te WU TR B a1 1 foreftaa st Sferada 30
(d) Wi W vaan TRart AR i s et

it I
1) wd ARE 2) (@), (b) =nfEr (d)
(3) W (a) ST (b) (4) T (o) MW (d)

The New Economic Policy (1991) was launched on the background of the following
economic indicators :

(a) Negative growth in real G.D.P.

(b) Indian Rupee had to be devalued by 45 percent

(c) India’s foreign exchange reserves had fallen to U.S. $ 1 Billion

(d) The fall of the Soviet Union had deprived India of almost a quarter of its export

market
Answer options :
(1) All four (2) (a), (b) and (d)
(3) Only () and (b) (4) Only (c) and (d)

HEAT HATEIE SR /SPACE FOR ROUGH WORK
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12,  9augF <. 7R 6T 9 gafaden ga=n sRa swidt 9isHd s gHIfae Teed 2

(1) i St AR FEHTITEIET YR Aq=iT Hed

) FiEAE T |

(3) U WA A

(4) AT FURE AR

- What was not included in the second Green Revolution proposed by Prime Minister
Dr. Manmohan Singh ?

(1) /Helping Indian farmers participate in global agricultural trade
(2) Minimise post harvest losses
(3) Improve storage of crops

(4) None of the above

13.  Rar= Qifsie- anfie fasmmama e sjfiret Hiowt . ?
(a) St fHwETET Yeared <0
(b) AR fAfHf == 3w
(c) < fem &
(d) T AR F WA AT frfer F
LR R ,
1) (@) (b), (@) 2 ®) (0 @) @ @ @@ 4) (@) () (©
What role does industry play in the socio-economic development of India ?
(a) to promote agricultural development
(b) to promote employment generation
(c) to alleviate poverty
(d) to develop money and cal;ital market

Answer Options :

1) (@), ®) () (2) () () (d) @ (@ () @ 4 @, (®)(©

HoAT HTATETS S /SPACE FOR ROUGH WORK
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14; T ATYV AR SIS STUR TR § SFIqehohiume g9 WIMa a8 2002 7ed 3faes

() A (b) TG (@ ¥ - @ RIETSIE
Ui S | '

@O @ ®) () st (d) 2) (b)) (a), (d)

(3)  (9) (b), (d), (a) 4)  (0) (b), (a), (d)

If we take into account the proportion of trade to GDP as an indicator of Globalization
~ then the most globalized countries in the descending order in 2002 were : . -

(a) India (b) America (c) Japan (d) Pakistan
Answer Options : |
(1) (@), (b), (c) and (d) (2)  (b), (c) () (d)
3 (© (®) (d), (@) 4) () (b). (), (d)

15. Qe 2012-2013 =0 fafdia ufgedt 3 frafa fomm s sam it i ¥,
(@) = ®) I (o) 3T (d) FUs
it M :

1) @ @@ @ @ @.b @) (@ @) © 4) (b)) @
The direction of India’s export trade in 2012-2013 shows that the first three top export
destinations in descending order were

(a) China (b) UK. () USA (d) U.AE.
Answer Options :

1) © @) @ 2 @ @) ®) (3) (@) @) © @ ®© @

16. R e FESH fredes TEd 9 9ISt Feyed JeTd A :
(a) & TH T W9 AR S S shAE B srean’”
| (b) ot fovdwacen R e faeR fvew e
i e A Pt Fw v o2
| 1) ¥B@E @ S D) @ I (@) =T
First systematic attempts of economic planning, in India include :

(@ a book by M.N. Roy titled “Planned Economy for India”
(b) “10 year people’s plan” by Vishveshwarayya

Which one of the above two statements is correct ? :
(1) Only (a) (2) Only (b) (3) Both (4) Neither

HTAT HIHTEIS A /SPACE FOR ROUGH WORK
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17.

11 NO6

SR Hledd e 9 ﬁ?ﬂﬂ e hel Y TRFaAr F :

(a) TSR WS 1 faehrdet ISR HicTuen HHl gl

(b)  ASTIRTET TR A ForhTaet SIREOTgE Frean ifud s

(c) eGSR Atfeh ForhTeet SeriehuIgd sveamdan et St

(d) Seurer= JUEd it famraet Seriwgd Fenen At g

it I

(1) (a) 3 () () (b) 3 (d) (3)  (b) = (c) 4) (a) 30fUr(d)

The annual average growth rate in employment and production during the post
liberalization period in India shows that :

(a) It was less than pre-liberalization period for employment
(b) It was higher than pre-liberalization period for employment
(c) It was less than pre-liberalization period for production

(d) It was higher than pre-liberalization period for production
Answer Options>:

(1) (a) and (9) (2) (b) and (d) (3) (b) and (c) (4)  (a) and (d)

18.

YRATE ST QRO BreisHH Weu[ w9 1991 78 qEertet w1 e 2
(a) T i R
(b) ST S Wi FEEUR

(0 aaaah%ﬁwmaaﬁé

d) o</ S gur
i SN

- (1) @F (2) e (b) (3) e (d) (4) HIUQE

In the context of Economic Reforms Progamme in Indla, which one of the following cannot
be attributed to the year 1991 ?

(a) New Industrial Policy

(b) Raja Chailaya Committee’s Tax Reforms
(c) Small scale Industry Policy Implemented
(d) Financial / Banking Sector Reforms

Answer Options :

1) (2a) and (¢ (2) Only (b) (3) Only (d) 4) ~ None

AT HIHATETS S /SPACE FOR ROUGH WORK
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19. mwwwhﬁw

CL]
@@ 1969
(b) 1974
() 1975
d) 1976-77
TR

@ ) ()
® @O @ )
2) G @) @)
@ @ O )
@ O @) @)

Match the fé)llowing and choose the corréct code : Lo

Year
(@) 1969
() 1974
() 1975
(d) 1976-77
Answer Options :
@ ® ©
O O @ )
@ @ @
@) @ O )
@ O @ G@

(d)
(i)
(i)
(i)
(iv)

@
(i)
(i)

o

@
(i)
(@
(i)
@)

12 A

TEHTT HTFETI FUROT
HET A

ST SC/ST =41 TEltd ST a%qg

P N eg g
vl

Amendment in cooperative law
N Er 1T :
Cadre scheme

Deciding new terms for, services

Reservation for SC/_&T m imgqagement

Deciding minimum educational qualifications

HoT RMAIS WRT /SPACE FOR ROUGH WORK -~
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Q)

()
(i)
(iv)

@

(i)
(i)
(iv)

NO6

SEfiTER RO AT gEat
T T TEA
TAHT GUR |itwt

Work

Measures regarding bankruptcy of
companies ’

Industrial Licence Policy
Direct tax system

Oil Sector Revision Committee

(c) ot sTespem et Wit

(d) < wfit

et T

@ ® © @

m G v 6 @

@ @ @ @ 0

@) @) @ 0

@ O @ @ W

Match the following and choose the correct code :
Committee
(2) Vanchu Committee
(b) Sundarajan Committee
(¢) B. Balkrishna Iradi Committee
| (d) Dutta Committee ’
» Answer Options :
) @ 6 © @
‘ O @ @ 6
@ @) @ @ 0
@ @ @ O
' @ O @ @

HEAT HIMES ST /SPACE FOR ROUGH WORK
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21. WRRTE FH WYiHEHA THhed ¥t Heiftd A
() I e | |
(b) WIS SHar e
(c) AHI IR IqAHN
(d <RYs frdfim fawn
i I
1) K (a) (2) (a) T (b) (3) ®H (d) 4 wH ()
The Maharashtra agricultural competitiveness project is not related to
(a) Debt restructuring of farmers
(b) Private sector capacity building
(c) Access to the markets for farmers
(d) Market led extension

Answer Options : .
(1) Only (a) (2) (a)and (b) (3) Only(d) - (4) Only (9

22, s e Yeden shevarE ST A SR A T e e B2 | e.

1) foy-geam-wifes (2) TM-THA-FEAG |
@) faoa-wem-frerid (4) wHfdn-SFa-ay
What were the names given to the three locomotives that were used to pull the first train

in India ? _ :

(1) Sindh - Sultan - Sahib "~ (2) - Ganga - Yamuna - Kaveri

(3) Vindhya - Sahyadri - Nilgiri (4) Kalinga - Utkal - Magadh

23. SiFIE=A (UNCTAD) 2011 =1 Tfie Aav[@i=an STeaTeTar afa® wa o 92 fadett
| TSV AT SHAFATETAT qad JEITER 20117 2013 1 HIAM R __ TR B,
(1) s (2 TE G) fawn (4) hem

As per year 2011 UNCTAD report in global investments, India stands in
increasing flow of Foreign Direct Investment in the period from 2011 to 2013.

(1) First (2) Second (3) Third (4) Fourth

HoAT HUES AFT /SPACE FOR ROUGH WORK
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24, O fagga deE onfor SE foRgreRor ISt qaR shotedn Usia e wrior faggdieior
I’ Qe v SiEe Tegd ?
(1) mtor forga feraromanst weern groarsht ffHd
(2) i o e Ffh
(3) <iRea WEwe faga Tacen 99 w0 fagdis
(4) arde! RIORE A

Which of the following was not an objective of the ‘Rajiv Gandhi Grameen'Vidutikaran
Yojana’ for Rural electricity infrastructure and household electrification ?

(1) Creation of rural electricity distribution backbone

(2) Creation of village electricity infrastructure

(3) Electrification of all unelectrified BPL households

(4) None of the above

25. YHfHE WEHN! I WA WAl Sefi=l iar w0 A 376 |
(a) o N Wt e FHUR RRAT gel e e Sifus 9eE SEvIE ST
(b) ¥ YN TR WS € GeHIhg AThReret Yook fehal Sefin wewm s
() e T S T e A | -
() A1 TAEE B AGH JqEHAT Ft <ard
Tt ey |
1) @9@) @ BEOIWD. @ @OI9 @ THaw
' A Primary Agricultural Credit Society (PACS) has to fulfil the following norms :

(a) PACScan be set up with ten or more persons belonging to a village.

(b) . PACS obtain their working capital in the form of entrance fees and deposits from
the members. ,

(c) PACGS give credit to the farmers at concessional rates of interest

(d) * PACS should give credit to small farmers only |
~Answer Options :

(1) (a)and (d) (2) (b),(c)and(d) (3) (a), (b)and (c) (4) All above

HoAT HITTETS AT /SPACE FOR ROUGH WORK
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26. STAERE A0 R 1970 TRE A e g Hefavaraet faRy et sifwR
IS GE hefl. ot MR @l I ’

(1) wEgE A - (2)  vaaE aee
() FEmmasT 4) e g

International Monetary Fund started special drawing rights scheme in 1970 to address
the problem of international liquidity. The scheme is also known as :

(1) Paper gold scheme (2) White paper scheme

(8) Green card scheme - (4) Silver card scheme

27. el 3 FasE FR g a2
(a) YRANIE Yfea fiear Heaad] Wehnl o ToeHEd T A9 T e,

(b) e frared @it 1895 - 1900 AEd e faen Waﬁm}mﬂ’rmm

it I
(1) FES () 2) a3 (b) @) = 4 THE!

Which one of the following two statements is correct ?
(a) India’s first District Central Cooperative Bank was established at Zang in Punjab.

(b)  Fredric Nicholsan in 1895 - 1900 suggested establishment of cooperative soéieties in
India as they were established in Germany.

Answer Options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither

FHoeAT HIWTATE AT /SPACE FOR ROUGH WORK
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28. THaA A= W ¢ WESTE Sl 916 Bl STTaRdsh Ae e e 3T U
T W1 B € AETEeE IShNE gRemd 3fEw B, GUREET ¥ A6 gean S
AT S TR A FRO RO,

(@) TS WS st

B r

(c) B9 (3) WS a=dt

(d) SITfaeRTRToT

wfzﬂaﬂ%

(1) (a) () (2 @)% @) @ (@) (a), b))

According to the Planning Commission, “the reforms also had medium term fiscal objective
of improving public savings so that essential public investment could be financed with
smaller fiscal deficit. This part of reform strategy was unfortunately never implemented”.
It was due to :

(a) Larger public debt

(b) High rate of interest

{¢) Negative public savings
(d) Globalization

Answer Options :

(1) (@) and () (2) (b)only (3) (b) and (d) (4) (@), (b) and ()

o1 HIWWE S /SPACE FOR ROUGH WORK
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29. WICITdH! HIvd! Fhed™T QS WA YRR eI 378 ? ’ é
(a) 3. FU-aIU-FEAARd Hq -
(b) NSN3 TT-TAF TI- T TSN - TR Fq §
() oh.aN3NA, wie-Ie - aT-gida w4 ]
(d) o.30.30. YT-HIEE -G
(o) HEA. w- v i w0

1) (@) (b), (0) (e) 2 (a) (®) (), (d)
(3) W (a) (4) ow wd

Which of the following concepts indicate/indicates Public - Private Partnership ?
(a) BOT - Build - Operate - Transfer

(b) BOLT - Build - Own - Lease - Transfer

() BOOQOT - Build - Own - Operate - Transfer

{d) BOO - Build - Own - Operate

(e) BLT - Build - Lease - Transfer

Answer options :

1) (@) (b) () () @ @ ) © @

(3) Only (a) (4) All the above

e

(a) WEgEWOm | gf
(b) = W
(c) =M G

d) sufeem

qaidt I : : : : :

1) @b (2 (@A) ()  (b) S (c) @4 (wx

The credit linked subsidy is provided for .

(@) Technology upgradation

(b) Purchase of plant and machinery

(c) Purchase of raw material

(d) Training of labour

Answer Options : :
(1) (a)and (b) (2)  (¢) and (d) (3) (b)and (c) 4) (c)only

%A1 HMTEIS WO /SPACE FOR ROUGH WORK
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T 1949 =1 T I WA UL 9=l HAST0Iral Hiv! 9gd garde! ?

() Fre= 3T vt (b) freIe 3= vgat
() @ gt d) TR Td s
Tt T

1) (a) (), () 3 (d) S (2) s (d) TR
(3)  (a) 3 (b) SR (4) Fee (b) IR

What method of measurement of National Income calculation was suggested by the
National Income Committee of 1949 ?

(@)
()

Net product method

Expenditure method

Answer options :

(1)
3

(b) Net income method

(d) Per capita expenditure method

(@), (b), (c) and (d) are correct (25 ~ Only (d) is correct

(@) and (b) are correct

(4) Only (b) is correct

32.

TRATd WS &t Usmr fAfHdla Irem e 6 S awen R

GIuTehH
MulshTH
SIOTHH

iehH

(b)
(b)

®

(b)

o1 anfor qroft | (c)
TSR ©)
BN (c)
aHIfsE da ()

TS S0 g S
Ao dew

it

RUGEIKICE]

Following three areas constitute major part of employment generation in public sector in

1) (@)
2 ()
@) @
@ @
India :
W @
@ ()
G) (@
@ (@

Mining
Mining
Mining
Mining

(b)
(b)
(b)
(b)

Electricity and water (c)

Small industries (c)
Electricity ()
Social services (0)

Community and social services
Educational institutions
Defence

Police Administration

Hoedl HIIMEISH IR /SPACE FOR ROUGH WORK
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33. U@ qF faumist wivh 9y SR ?
(a) 2013-14 AR FRBEARR STeedn Ufeedn 9 hEid Wresh SumHine Ferel fe
THATHE HITRIA I HRA HIR 10 SUHA=T GHE e, '
(b) éz?&ﬁaﬁqﬁmmmmaﬁwmaﬁaaﬁéﬁﬁ(@sm)mmﬁm
et 3 |
(1) 9% (a) (2) @ (b) () (4) T

Which one of the following two statements is correct ?

(a) National Mineral Development Corporation and Bharat Sanchar Nigam were among
the top five profit-making Central Public Sector Enterprises in 2013-14 ?

(b) State Trading Corporation of India Ltd. was among the top loss making CPSES.

Answer options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither

34. mﬁaaﬁm@ﬁwfwﬁw@wﬁﬁwmmmmmmmw
TRUN 17 3. A1 WeHid YEIl G el Ivid faem 9 o1 ?

(a) | 2011 AT STEVFYET TSR 9 3y A< ST GRET FRUS 318 ST,

(b) T 2011 S FTVHTIR SHHTE o ITAGES T a1 IRETH BN 199 3R,
gyl I

() 9% (a) (2) 9 (b) @)« (4) TEE TR

Population density for Delhi has been the highest at 11320 while being the lowest for
Arunachal Pradesh at 17. In this context which one of the following two statements is
correct ? : ‘

(@) As per 2011 census the density of population of Gujarat and Andhra is the same at
318.

(b) As per 2011 census the density of populatlon of Chattisgarh and Uttarakhand is the
same at 199.

Answer options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither

FHoAT HIMTETE A /SPACE FOR ROUGH WORK
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35. . dgaeRL At Tiie AieerRTE T R Hewrean SersieT R o) PR,
1) Imed fgmor afor sTRreTEde gater HEY ST,
(2) I AR TR Gar=T THE 3R,
(3) e v woh s e st STere et W R,
(4) m@ww,mmmmmmm

Prof. Tendulkar’s figure of poverty head count is higher than Planning Commission’s
estimate because

(1) It includes the expenditure on education and health.
(2) It includes the expenditure on migration for employment.
(3) Itincludes the expenditure on drinking water and better quality of food.

(4) It includes the expenditure on family welfare, health and education.

36. eI I faumie! S ara R ? |
(@) 2008 YA GE Feiet TET e fom AT Siiten Warid deaeiars! ar e,
(b) @ SRR T 30,000 TS TG W AGEE! FErETT 4 ST T

3R,
TIidr 39T
(1) %93 (a) - (2) HES (b) (3 o= (4) THE AR

Which one of the following two statements is correct ?

(@) The Rashtriya Swasthya Bima Yojana introduced in 2008, is applicable to the BPL
population.

(b) - The beneficiaries are entitled to hospitalization coverage upto ¥ 30,000 for four
household members for most of the diseases.

Answer options :

(1) Only (a) ° (2) Only (b) 3) Both (4 Neither

- ST HIUTHIS ST /SPACE FOR ROUGH WORK
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37. HeAl Ygait® I (1980-85) YEIcieh! IV SSMIR S TR HI0A 3T ?
(a) o e ~
(b) Wrafes feerdie SUSTRY
() e feridter SeAmdt
(d) i feerfdia SR

i I
(1) (a), (b) 3T () , (2)  (b), (c) T (d)
(3)  (a), (b) S (d) (4) §d =R

Which of the following estimates of unemployment were made during the 6t five year
plan (1980-85) : '

(a) Chronic unemployment

(b) Weekly status unemployment

(c) Daily status unemployrhent

(d) Annual status unemployment

Answer options :

(1) (@) () and @ () (©and @
(3) (a), (b) and (d) 4 (4) All the four

38. Witerdeh! fomR JSMIR Frerr Sezdl.
(1) T FH G
(2) W fawm g
(3) Ui wReaRg FH faww
(4 o TR T
Identify the non-employment scheme from the following :
(1) Rural Works Programme
(2) Area Development Scheme

(3) Integrated Dryland Agricultural Development
(4) None of the above

FHoAT HIWEE WRT /SPACE FOR ROUGH WORK
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39. WESH ST THE USThHg Hafis! e e onare! Qeiid Siven sl
TR Bl ?

(1) w1 faen foen S&=
() mwaﬁfsﬁm
(3) el TreAe A faao
(4) ASEUAS FEH

Which of the following instruments is used as one of the major fiscal functions of the
public sector in stabilising the economy ?

(1) | Expansion or contraction of taxes
(2) Raising debt. from the market
(3) Proper distribution of available resources

(4) Changes in the interest rates

40. mmzomqammwmﬁmammwmm
G i Helt 376, 3T heral IR :

(1) fauu e MR (2) TEEl <V SR,
(3) WGl < IR, (4) TFHT W IR.

Enactment of section 135 of the Companies Act 2013 making Corporate Social
Responsibility (expenditure) mandatory for large and profitable companies India became

the :
(1) third country to do so. (2) fifth country to do so.
(3) seventh country to do so. (4) only country to do so.

AT HIAMEIS WA /SPACE FOR ROUGH WORK
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41, YRATE SO STEAFA @ SO v 2

| (a) O WS AT (b) TAREETRRI HA
(c) IR (d) T efEE
gaidt S
(1) (a) 30 (b) (@ ) (o ef(d)
3) (@) () v (d) (@ wwwd

What are the major causes of income inequality in India ?

(a)v Private ownership of property (b) The law of inheritance .
(c) Tax evasion (d) Parallel economy ’
Answer options : | |

(1) (@) and (b) (2 () () and (d)

(3 (), (c) and (d) (4) All the above

42. 1 s, 1999w@maﬁ?ﬁmwﬂwmmﬂmmgﬁmm. -
WAl Hivrt Al fael FIoaE st e ?

(1) THIfas amo fasm wriwa |
(2) <TEE faER A
(3) Tauur ISR AT

(4) T T JISET

Which one of the following schemes was not merged in Swarna Jayanti Gram-Swarojgar |
Yojana started on April 1%, 1999 ? ‘

(1) Integrated Rural Development Programme
(2) Million Wells Scheme

(3) Prime Minister's Rojgar Yojana

(4) Ganga Kalyan Yojana |

HOAT HWUS WA /SPACE FOR ROUGH WORK
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43. nwﬁaﬁﬁ%awﬁm%ﬁwﬁa@w&aﬁmﬁfﬁmmmﬁw
ARETE TR B ‘ |
(1) ﬁ@wﬁaguﬁm | () émﬁmﬁ@mgﬂﬁﬂz
() o = | 4) e T T

Which of the following monetary tools have the same effect on the expansmn of money
~under monetary and credit pohcy of the'central bank ?

(1) Cash Reserve Ratio (CRR) (2) Statutory Liquidity Ratio (SLR)
(3) Both the above o (4) Neither of the above

44, &I S faumitet SR dig TR ?
(@) Wswwﬁuwmmwmn%smm
(b) wmummwm?sﬁ 10 HIET TR
(1) 9 (a) @ ®BOH) (B T (4) THRE TR
Which one of the following two statements is correct ? -

(a) - For manufacturing enterprises investment.limits.for medium projects.is ¥ 2 to 5
crores. ' . ‘ '

(b) For service enterprises investment limit for medium project is ¥ 5 to 10 crores.
Answer options : L L _

(1) Only (a) (2) Only (b) (3) Both .. - (4) Neither

45. I EWH fagiardid THH

w=m%waﬁaﬁaﬁ
(@) GadeTd whee (Z)Wf@"aﬂﬂ"laﬂm
() FAfgET= HHE (@ eI g

In quantity theory of money the equation :

MV =PT is known as '

(1) Robertson’s equation (2) "Mafshall’s; équatioh |
(3) Keynesian equation (4) Fisher's é(liiation ’

HoAT RAMEIS ST /SPACE FOR ROUGH WORK:: < - ¢

P.T.O.




NO6

26

46. Sl T AT T SN

(d)

faem fa@e wemEs
TR FOM TR fh Hemes 0
fagsf wreaaR fowma TRmes (i)

meaﬁmw (iv)

it 39V :

(1)
2)
(3)
(4)

@ b © (@
) 6 @ (@)
i) @) @) @)
@ Av) () )
i) @) (@) @)

Match the following and choose the correct code :

(@)

(b)
(c)
(d)

Irrigation Development Corporation

Maharashtra Krishna Valley Development (i)
Corporation

Vidarbha Irrigation Development Corporation (ii)
Konkan Irrigation Development Corporation (iii)

Godavari Marathwada Irrigation Development  (iv)
Corporation

Answer options :

(1)
(2)
®3)
(4)

@ ® () @
@) @ @) (i)
@ @) @ W)
@ @) @ )

© @ @) (@)

TTOAT Y
e 1997
fedsrR 1997
HiTR 1998
AHART 1996

Year of Establishment

April 1997

December 1997
August 1998
January 1996

Al HIHTEIS WRM /SPACE FOR ROUGH WORK
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47. 9rg @ fee

Fg AIHITAT WiETel! IS HI0T Uhidl GHE Bl ?

(a) SferTa O I (b) AT o e

(c) 3T SR S (d) wfas frafe friog= s

it I

(1)  (a) Sufer (b) (2) (0 smfvr (d)

@) (@), (o o (d) (4) =t W

Choose the correct option :

What factors are included in the Central Government’s Capital Income ?

(@) Income from internal debts. (b) Income from external debts.
(¢) Income from small savings. (d) Income from provident funds.
Answer options :
(1) (a) and (b) (2) (c)and (d)
(3) (a), (c) and (d) (4) All the above

48. THED WA F .

(a) HIATAT YA H
(b) FHYA THU IR
() SHU=A AR HT
(d) Fu=rieAn UEEER

i S
1) (a) & (2)  (a) snfer (b)
3)  (a), (b) 3O () 4)  (a), (), (c) 3N (d)

The corporation tax is a

(@) tax on income of companies

(b) tax on total receipts of the company

(¢) tax on turnover of the company

(d) tax on donations of the company

Answer options :

(1) () only (2) (a) and (b)

(3) (a), () and (9 @) (@), () (9 and (d)

AT HHWEE SO /SPACE FOR ROUGH WORK
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49. AT IUEHH AAIE [V Il ST FAN @ -
(a) <isd afe Fera 9 wHIYH
(b) WA H=R fFm
() sfead SAfaa HHEA
(d) FE T TeR SRiaReE

i I
1 @ ®) @ @) s (@) (@) (), (d) (9
@) (@ () @) (b) @ (@ () (© (b

Arrange the following enterprlses in terms of real investment in a descending order :
(a) Oil and Natural Gas Commission

(b) Bharat Sanchar Nigam

(c) Indian Oil Corporation

(d)y NTPC

Answer options : . o

M) @ b © @ L@ @b @
3) (@), (), (d), (b) 4)  (a), (d), (c), (b)

50. “UNDP =a1 91d foTe STeameiy= e (2009) (@ a1 faumide v amg T@t 2 -
© (YRArE 3Ty 3TART 63.4 9 e WIARAT! <HRAR (2007) 66 Bd)
(a) sﬁﬁwzﬁ;mwmwmﬁmaﬁmmmﬁmﬁ?ﬁ
(b) e U We AT THhard 2007 FE AR 99 B,
vt I ,
(1) F9 (a) 2) W(b) @) W= () AT

As per the Human Development Report (2009) of the UNDP w}uch one of the followmg
- two statements is not correct ? -

(Life expectancy for India was 63.4 and Adult literacy % (2007) was 66)

(a) . An average life expectancy 2007 for USA, UK, France, Japan, Canada was about
84. .

(b) Adult literacy percentage 2007 for the above countries was about 99

Answer options :
(1) Only (a) (2) Only (b) - ~(3) Both " (4) Neither

HEAT HTHTATS! JNT /SPACE FOR ROUGH WORK : .0« .+ = oo
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A
51, A et I A9 T Tew .
(a) MW o (b) wUH
() <HAT (d) ufEw g
it e ,
@) () T (d) (@) (a) ¥ ()
@ oF@ @ W
For India’s BPO (Business Process Outsourcing) Services, the main two consumers are
(a) US.A. (b) Japan
(c) Germany ‘ (d) Western Europe
Answer options : |
(1) (a) and (d) @ (@) and (0
(3) (b)and (d) 4) () and (d)

52. 2007-09 I e g ___ W TFid St 9t A 9egel 100 Qen wt
(2) ¥ (b) Y (c) wemrY (@) T
it I
(1) (a) =0T (b) 2 (a) ®F
3) (@) (), (c) o (d) | @) () 3 ()

The maternal mortality rate in 2007-09 was below 100 in the states of and
(a) Kerala (b) Tamil Nadu () Maharashtra (d) Gujarat
Answer options :

(1) (@) and (b) (2) (a) only

@) (@, (b) () and (d) (4) () and (c)

FHoRAT FHINEIS AW /SPACE FOR ROUGH WORK
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53.

30 : ' A
IR Saean fereel foehtd stgaTell (2010) oo qetel € faumident Siva ava g ?

(a) faweTeia stderaedam favart gar 83% AHEE SR 9 O =N GAR 38% T4
T 3! T geifa.

(b) AU FIEt o0 fospeiier teforaeen geifaam.
it 36T _
1) ¥aw () @) ¥ () @) 3 @ wETE

Which one of the followmg two statements about the World Development Report (2010)
of the World Bank is correct ?

(a) Developing economies comprlse about 83% of the world population but account for
about 38% of the World Gross National Income.

(b) Some of the countries of Europe also come under developing economies.

Answer options :

(1) Only (a) . (2) - Only (b) (3) Both (4) Neither

54.

TERTST=AT ST WiEdiel 1991 = Sectiisht TF TIE s U :

(1) e T TUH ST 8.

(2) T IW IHUE SRS Higdelt d TAH T IS Feaia.

(3) UTERIANT S IR GISTHL. |

(4) ' Wigae a%q SUTET HH BIURT S,

Oné of the changes in the industrial structure of Maharashtra post - 1991 was :
(1) Increase in the consumer goods industries. o |

(2) Transition from consumer goods industries to capital goods and reprocessing
industries.

(3) Privatisation of consumer goods industries.

(4) Reduced share of capital goods industries.

HoAT RATEIS WRT /SPACE FOR ROUGH WORK
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55. Sireifiter srromavT fHyerdtaTe! STt SO qe ey T IR,

(a) IRER TG THEA (b)  FH-FHI IR o1&

(c) <=9 M TREdT & (d) T AN W

gt I

1) (a) & ) (@) = (b)

(3) (o), (b) 3nfer (d) (4) () s ()

The fundamental criteria used for identifying industrial sickness is

(a) Recurrence of cash loss (b) Increase in debt-equity ratio
(¢) High labour turnover (d) Reduction in networth
Answer options :

(1) (a) only * (2) (@) and (b)

(3) (@) (b) and (d) (4) (b)and (9)

56. Yerd faumi=n fa=r & :
(a) TR HRATH Yigen HAHReH 28 i, 1948 1 AR.%. YUI@ =g AT Higel.
(b) VRAT Ha(d S eTefHehed MEwAr=T AW FLH TS SEE A7 e,
() U @S A iEn qrean TefHE 16 U, 2012 TSt wigan.

Tgidt S
(1) (a) TR, (b) 3T () I
(2) =0 wd TR

(3)  (b) 3 (c) S
(@) (a) STTOT (b) SRR 3.
Consider the following statements :

(@) R.K. Shanmukh Chetti presented India’s first post independence budget on
28 February, 1948.

(b) Presenting budget for the highest number of times is recorded in the name of the
finance minister Morarji Desai.

(c) Pranab Mukherji presented his 5t budget on 16t March, 2012.
Answer.options :

(1) (a) is correct (b) and (c) are incorrect

(2) All the above are correct

(3) (b) and (c) are correct

(4) (a) and (b) are correct

FoAT HTUTEE! WO /SPACE FOR ROUGH WORK
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57.

322 A

WA T & Hagiidd Jeei=a dnaet=a devid (2011) [Eid 4 faumida s s

(a) TAYEITH ARECA Td@ HHT AR, WM 6T FHAM Add : HHA 9 FH@HER =,
A F e M J_T o TR gl

(b)  § 2011 1 SFTURTHTS Fifesh o ORI Teiw! THHHEAT SIA3UH HREl (T8T T
FH BTH) AR,

it S

(1) +9 (a) (2) e (b) (3) < 4) THE R

Which one of the following two statements is incorrect in terms of the population of the

states and the Union Territories 2011 ?

(a) Lakshadweep has the least population. Thereafter the order of increasing population
is : Andaman and Nicobar Islands, Daman and Diu and Dadra and Nagar Haveli.

(b) Karnataka and Gujarat have almost the same population (difference of less than ten
lakhs) as per 2011 census.

Answer options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither
58. UHIA® Tl fohme Frer & HiT .

() RIS STEH HIE a1 DI FEAIaId HLo!

B - o

() o IR

(d) TS gwIfaa Jaed

Taiadt N , :

(1) (a) ST (b) (2)  (a), (b) 3N ()

3 GwR @) (@

Integrated rural development program is for

(a) Transferring productive assets or skills to the poor

(b) Self employment

(c) Wage employment ‘

(d) Drought affected farmers *
Answer options :

(1) (a)and (b) 2) (), (b) and (c)

(3)  (b) only (4 (d)only

HoAT HHTEE W /SPACE FOR ROUGH WORK
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59. TEie A faumRieT SR v AR ?
(a) TSI =1 (2014 =) WA feres STEARNLER, Teae FeuihraR152 SoiAes SRar
127 1 ShHi® ATl
(b) = SEAAIER Ha o Fewea wRa 187 YT 165 a1 .
Tt S
(1) %93 (a) (2) &3 (b) (3) d" (4) THH TR
Which one of the following two statements is correct ?
(@) According to UNDP Human Development Report (2014), India ranks 127th out of
152 countries on the Gender Inequality Index.
(b)  According to the same report India ranks 165t out of 187 on the Human Development
Index.
Answer options :
(1) Only (a) (2) Only (b) (3) Both (4) Neither
60. WHERTRN & 9 dafRud] JHE™ I YR HTSesaTa.

(1) s, Tifear snfor Tefededt

(2) I, TITS AT TR

@) facd, wice snft www

) ford, wearer anfr @Y

Dal and oil mills in Maharashtra are mostly located in
(1) Bhandara, Gondiya and Gadchiroli

(2) Thane, Raigad and Ratnagiri

(3) Vidarbha, Kolhapur and Satara

(4) Vidarbha, Marathwada and Khandesh

FEAT HTEES W /SPACE FOR ROUGH WORK
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61. WRATE dissEA o fa= aereal wavia Jeid qF faumiie! S ard 318 ?
(a) WY TGS 9GS THHRARI | 1971 (1961-1971) W Faia SU Vfeee.
(b) WEEANHR T 1961 AEd HF ARG Fqdl TFRaRI qoa e Afea.
et SO

1) Fa3 (a) 2 ¥FaBOD) . (3) WA (4) TS TR
Which one of the following two statements about the population and its growth in India
is correct ?

(@) The percentage change in decadal growth has been continuously negative since
1971. (1961-1971)

(b) The percentage change in decadal growth has been highest post—independenceAas
noted in 1961.

Answer options : ‘
(1) Only (a) | (2) Only (b) (3) Both (4) Neither

62. BPO ¥a1 @ Qo= ITHRF AR,
(1) =R

(2) U IARA v

(3) iEdt o Fe Feifed

(4) deE T it

BPO (Business Process Outsourcing) services are a sub-component of
(1) Trading services

(2) Computer product services

(3) Information and technology related services

(4) Research and engineering services

63. WRATAT Td IMATd SRS Heallfoeh <ok QM § AT Gaied] Qe ___
W@ hel .

(1) g (2) FEH @) 4) o=

The largest amount of public expenditure in the form of subsidies as a percentage of GDP
is on

(1) Rice - (2) Kerosene (3) Fertilisers (4) Electricity

HoAT HRIUTEE WM /SPACE FOR ROUGH WORK
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64, wEEE fFREAU_ - HTRAG %l 9.
(@) @ | (b) e
() g TEE iRR (@) STwRUEE T R e
e 3 ;
(1) (a) 3 (o) (2) (a) STOT(b)
(®) (a) W | @ @ ®)

The control of inflation is done through

(a) Repo (b) Reverse repo

(c) Cash reserve ratio (d) Borrowing from IMF
Answer options : | |

(1) (@) and (9 (2) (a) and (b)

(3) (a) only @ @O

65. <Iicy WA dihaEIs JHIU S&d Sl Tl M Toaid] Huarl 2011-12 7L
gt B,

() TR (b)) TRE () @ (d) Fieh
W‘hﬁ 3#{ .

1 (@ @ ®)© @ @ ®) @ @

@) (@ ®) @) © @ © @ @ ®

If the states are arranged in descending order on the basis of BPL population the order in
2011-12 was : -

(a) Maharashtra (b) Gujarat (c) Kerala (d) Karnataka

Answer options :
W @@ b 2 (9 () (a) ()
@3) () (@) (@) () 4) (e} (@) (d), (b)

HoAT HIUTES 9T /SPACE FOR ROUGH WORK
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36 A

g%ﬁéwﬁwahawmﬁwm-zmommmawhafwmﬁrz@wﬁ
Tuifaett : -
(1) o9, g, HIH (2) T, qigE, T@

(3) IIE, T, e 4) I, S, T

From amongst the following food grains name the three that have shown the maximum
percentage rise in production from 1970-2010.

Cereals, Pulses, Rice, Wheat, Oilseeds, Sugarcane, Cotton.

(1) Sugarcane, Wheat, Cotton (2) Wheat, Rice, Pulses
(3) Cotton, Wheat, Oilseeds (4) Cotton, Pulses, Wheat
67. §F 2007 HLA (RIS STRYTAEl HHEY FHed 3T TN A eI Al
() ®) T () HsUR (d) TR
Tt I |
O @®@d @ @ b)© 3) (b)) (@ 4 @ () @
Food security mission was launched in 2007 with the following components.
(a) Rice (b) Wheat (c) Pulses (d) Jawar
Answer Options :
(1) (@) (b) (d) 2 (@ ®) (9 @) (b)) (@) 4) @ @ )
68. %S (NAFED) ___ = %0 &W.
(@) WEFR fauum | (b) ITEFETE S
(c) fomm sAfirhat (d) TN RF
et I
(1) (@) (b Q) @ (b))
(3) (@ ®), () 3 (d) @ () (= (d)
NAFED functions as
(@) Cooperative marketing (b) Government Agency
(c) Insurance agent (d) Facilitator for contract farming
Answer Options :
1) (@) () | - (@ (b)and (c)
(3) (@), (b), (¢) and (d) (4) (b), () and (d)

HoAT HIUTATS T /SPACE FOR ROUGH WORK
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69. &Il I TaumIdeh HIvd a1 311 ?
(a) T < e o e T 1997 =1 |l foshry TR WA kel el

(b) | T Hies, RN, U 9 gfeamon & wafq == Amat faww fdws sraee ufeeft
IR ToY TR '

a3 ;
1) 9 (a) 2) %9 (b) @) o 4) TERTE

Which one of the following two statements is correct ?

(@) Human poverty Index was for the first time presented in the Human Development
report of the year of 1997.

(b) Kerala, Maharashtra, Punjab and Haryana are the first four states with the highest
HDI among the states.

Answer Options :
(1) Only (a) (2) Only (b) (3) Both (4) Neither

70. ST SR FeReAAT Sdifasra I HIVE RS 3TRd 7
C (a) R VAW ST e 30
(b) <wiaa Hedra A
(c) freila orgem e
(d) = ggdt Tafa
Tt I :
0 @ © @ @@ 6 ®MOd @ @0
What are the provisions in Agreement On Agriculture (AOA) under the WTO ?
(a) Providing market access
(b) Regulating domestic support
(c) Containing export subsidies
(d) Ensuring fair practices

Answer Options :

1) (@) (9 2 (@ (@ @) ®) © @ 4 (@, (®), \

el ST W /SPACE FOR ROUGH WORK
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71. §d TeafiE dremimel u frmmr =E W _ ot 2a.

(a) ot R Ham

(b) ¥IFRS AR vl

(c) o= fowr

(d) wEEE FS

iR

1 @ © ‘ @ @@

3 @®.@ 4 ®), © (@

The strategy used through five year plans for agricultural development included

(a) Agricultural extension services

(b) Favourable terms of trade

(c) Expansion of irrigation

(d) Institutional credit

Answer Options : .

0 @ © @ @ (©and @)
@) (@) (k) () 4 (), ()

72. U 9 fA¥A 2006-2007 7l Wﬁw@ywmgw A
(1) i ArEStEria & asfas
(2) = We YIS S YAt J9is Al yHIOd ST
(3) WA WA N
(4) ﬁmgﬁwﬁm
9 THAd 3= aﬁa@

National Bamboo Mission was launched in 2006-2007 w1th the followmg 1mportant activities
but for one :

(1) increasing area under bamboo cultivation

(2) mass production of quality planting material of all the species
(3) development of human resource -

(4) development of marketing facilities

Identify the activity. -

HoEAT HIMEIS SR /SPACE FOR ROUGH WORK
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73, anfde fawm snfor yafawer amsdte Geiy iU TH9R 19 %14 ?
(1) varERuy fRfae o e
(2) vAEE ARlE o Jieas
(3) vataig ] 3% Tfeas
(4) VI FEeH 9% feas

Which is the hypothesis that indicates the relationship between the economic development
and the environment ?

(1) The Environmental Phillips curve hypothesis

(2) The Environmental Marshall curve hypothesis

(3) The Environmental Pigou curve hypothesis

(4) The Environmental Kuznets curve hypothesis

74. aﬁwwzﬁwwﬁ?ﬁm{

Vit HEHS D T ad
(a) it qAfda fomm frm (i) 1968
(b) et foxr Fm (i) 1969
(c) Y&t va (iii) 1963
(d) <RH Aawdt fawmma den (iv) 1958
qiEt IV

@@ ) (© (@
1) @ @ @) (@
(2) (v) (@ @) @
G) @@ @) @ @
4 @ @ @) (v)

Match the following and select the correct code :

Agricultural Corporation Year of commencement
(a) Agricultural Refinance and Development Corporation (i) 1968 -
(b) Agriculture Finance Corporation . (i) 1969
(c) Agriculture Credit Corporation » (i) 1963
(d) Small Farmer Development Agency (iv) 1958

Answer Options :

@ ) () (@
1) @) @ @) @
2) (v) @ @) @
@) @) @) @
4 @ @ @) (@v)

oA HTWTATS A /SPACE FOR ROUGH WORK'
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75.

40 A
e @ oy fogiad o= qed 37N 3.
() = (b) Wi (© phea () THEm
Tt T :
(1) (@) w 2 (@) = (o)
(3) (@) (®) 3 (o) @ (@) (b) 3 (d)

The absolute cost advantage theory measures the value of goods through
(a) Labour (b) Capital () Land resources (d) Technology

Answer Options :

(1) (a) only (2) (a) and (b)
@) () () and (0) 4) (a), (b) and (d)
76. G O fAETTE B v a2

(a) E71952 2012 A1 FH@SWd YRAW Gai=1 AR 500 TENET HAfoF et e,

(b) ST IS TRATAT STl T A FAST AT TEI.

vt wei |

(1) %9 (a) @ w9 (b) () = (4) TR

Which one of the following two statements is correct ?

(a) The fertilizer coﬁsumption in India has Agone up more than 500 times from 1952 to

2012.

(b) Because of the bumper production India does not have to import fertilizers any :

more.

Answer Options :

(1) Only (a) | .(2) Only (b) (3) Both (4) Neither

ST RIS AWM /SPACE FOR ROUGH WORK
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77. Sied] esed arg 1aig faer ¢

(@) T @ wnv () W@ FTE
(b) TR T A (i) FeR

() Wt wd fagia (i) ke Rawret
(d) ErTETd TR (iv) 3few femy
vt I

@ & © @
O 6 @ @
@ @ O @) G
@) @ @) @) o
@ v @ @ o

Match the following and select the correct code :

Trade Theory Economist
(a) Absolute cost advantage (i) Paul Krugman
(b) Comparative cost advantage (i) Habeuler
() Opportunity cost theory (iii) David Ricordo
(d) Intra-industry trade (iv) Adam Smith

Answer Options :

@ (b (© ()
M @ G @ G
@ @ 0 @) (i)
@) @) Gv) @@ @
@ @) G @ )
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78. e A Fawie o w2

(a) TR FERA AT d TSNS TRV §F 1951 @ 2010, 25% T 20% Ta FH 700
(b) TS FOMAEE T €9 1951 @ 2010, 50% TRA F AR 30% qua am'faﬁ. |
el T o

(1) F9@ () () F (b) () =& (4) T TR
Which one of the following two statements is correct ?

(a) The proportion of agricultural labourers to the total workmg populatlon has decreased
from 25% to 20% between 1951 and 2010.

(b) The proportion of cultivators also declined from 50% to about 30% ir‘li,‘the period.
Answer Options :

(1) Only (a) (2)‘ Only (b) (3) Both  (4) Neither

79. T2 aF faumite SR g o 2
(a). WRATE T F & Uty ferere Sl Tema 1982 W e, |
(b) SRR i depit T 1973 WA el
SR CIENCI U O

Which one of the following two statements is incorrect ?

(@) The National Agricultural and Rural Development Bank was established in Indiain - '
1982. ' i

(b) The Regional Rural Banks were set up in 1973.

Answer Options :

(1) Only (@) (2) Only (b) (3) Both 4)  Neither

s HIWTETE W /SPACE FOR ROUGH WORK
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80. TEIA I faumite! HIvid = TR ?
(a) FAACE fohTSH & FAACE WHAN 6 - 7% HTEW ARG WG HH Hd.
(b) AW HEW HEHAT 49.7% WK At TSR Tl
v I
1) ¥93 (a) (2) S (b) (3) T (4) THE TR
Which one of the following two statements is incorrect ?
(@) In United Kingdom and United States only 6 to 7% of the working populatlon is
engaged in agriculture.
(b) InIndia49.7% of Indias work force is provided with employment by the agricultural
sector.
Answer Options :
(1) Only (a) (2) Only (b) (3) Both (4) Neither
81. &I SN faymiiet v dne 1R ?
(a) WRATE! SHME! Scaehdl =98 HH 3R (2010).
(b) s FEER SAEEHA YRaan fhRdad s SR (2010).
qqie I : :
(1) ¥93 (a) () %A@ (b) 3) <= (4) e T
Which one of the following two statements is correct ?
(@) The productivity of Sugarcane in India is lower than that of China (2010).
(b) The productivity of Sugarcane in Egypt is much higher than that of India (2010)
Answer Options :
» (1) Only (a) (2) Only (b) (3) Both (4) Neither
82. =S IAHNA AR IF WeX U Al qreeiel Wet HIvwd 2

(1) =AY, AR, HTR (2) SR, TeATH, MEEE

(3) HMR, T, HR (4) AR 9 TS

What are the Towns of Export Excellence for leather products recognised as such ?
(1) Kanpur, Jaipur, Srinagar (2) Udaipur, Pahalgam, Gaziabad

(3) Kanpur, Dewas, Ambur (4) Jaipur, Chennai, Chandigarh.
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83. femamer fawm frdemem (GDI) ®ivrn o= faer e swmar?
(a) Torara srife st
(b) Toaiweter de werar sftn Mearmelter TeAIgoR o
() Tomia =R 3o |
(d) A M B i TEwmaR
el 3 o
1) @ ®)(d 2 @, (®)(© 3)  (b) (9 (d) 4) - @, (®) (@), ()
What are the dimensions of Gender Related Development Index (GDI) ? :
(a) Female life expectancy
(b) Female adult literacy and gross enrolment ratio = - "t
(c) Female per capita income
(d) Percentage of females working in agricultural fields

Answer Options :

(1) @) () () 2) (@ (®) (© @ ®Oed @ @b @

84. TR THIA Wigoe AT SUATSH g W A% YHIUI Weife SR

(a) TafrrE @ SETEE | (b) T T &

(c) STYT 5 FAEN (d) =Y TR e
T IR |

V) (@) 3 (b) @ (@) ®) Q)

®) @ O () © @@,

The extent of absorption of foreign capital is inversely related to :

(@) Over valuation of exchange rate (b) Under developed financial sector
(c) Under developed laboﬁr market (d) Current account deficit

Answer Options : | :

(1) (a) and (b) @) (), (b) and (0

(3) (@) ®) () and (@ (4 (©and (@ -

"ot HTHMETS WET /SPACE FOR ROUGH WORK
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85. Wl I Wel AR FIET AH-STHE 2004-2005 et T fRwetaR smenfia SeneA
fowa wafa aifye 8 2 |
1) g 2 ™ (3) ‘H 4) =9

The value of output of which one was the highest in 2004-2005 at current prices of the
total value of output of agriculture and allied sectors ?

(1) Rice (2) Wheat (3) Milk (4) Sugarcane

86. TTERMW AT W T HiFAYA H® IR e Fowa fodu 7 Wit weien aed FigavE
TR seerea STRaTed W 1980 Wed faiad foed € S weuem arte e o e
i = 8 ? |
(1) 39t TR Afadsd (2) 3R HuRew vfaae
(3) U FEEIEs e (4) TR STHYRT sfadA
What was the title of the Brundtland report that defined the term sustainable development,

for the first time used in the world conservation strategy presented by the International
Union for the conservation of Nature and Natural Resources in 1980 ?

(1) Our bright future (2) Our dark future
(3) Our common future "~ (4) Our uncommon future

87. Ra fmiv wE%wT 2005 A WO WA GG GAHT wivwer $Rd ?
(a) SrfEET o gt T
(b) T R
(c) aHor refiqeest
(d) o ferpdteRaT
(e) wtor qreaA
Tt I
1) () (0 (d) o 2 @ () ©) (I
3 (@ ©) @) (e 4 (@ (b), () (d) (o)
What rural infrastructural facilities are included in the Bharat Nirman Programme 2005 ?
(a) Irrigation and Rural Roads
(b) Rural shelter
(c) Rural water supply
(d) Rural electricity
(e) Rural Telephone
Answer Options :
(1) (b} (0) (@) 2. @ ®) (@ @
G @ (9 @) (e) @) (@, ®), () @ (e
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88. oTawg fawm g H.

46

(2) Tmsitor wrTE o fomerst
(b) foue ferermamet famgeen

(0 RIS gt fageat
(d) frafdtear fameer

it I :
1) @ © 2 (@) @) e (o)
@3) () (d) (4) (b

The International Development Agency (IDA) helps in :

(a) Financing rural infrastructure

(b) Financing drip irrigation

(c) Financing marketing facilities

(d) Financing exports

Answer Options :

1 @ (© ‘ - (2 (@) (b)and (o)
3 @ @ = @

89.

(1) qeeHes wrn g

(2) = <Rl fagid

(3) freaw wmren fagia

(4) IE-3W - fasia

Hecksher - Ohlin theory of International Trade is élso called as
(1) Theory of Comparative Advantage

(2) Factor Endowment Theory

(3) Theory of Absolute Advantage
(4) Multi-Country-Multi-Commodity Model

HoeAT HTUTHIS A /SPACE FOR ROUGH WORK
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90. when 3femed e 2.
(a) R e fawm
(b) forsmar &+t %
(c) fafem <
(d) wrfew W
e wwY -
(1) (a) AT (d) 2) (@), () (9 (3} (a), (b) @) (o) (@)
The SAARC objectives include _
(a) to accelerate economic development
(b) to reduce in-equality
() to stabilise exchange rate

(d) collective self reliance

Answer Options :

(1) (a) and (d) 2) (@) (b), (0) G) () (b @ @© @
91. | 2000 =T I RTRA JFHAH THAHT [ETHR e e .
(a) faraEd w=foaq

(b) THUERAT G
(c) wra fdwne St
(d) wi-fadet TR wefad
Qi I ¢

1) @ ®) 2 @, ®)© G) @ © 4 © @
The ASEAN Summit in 2000 launched the Initiative for ASEAN Integration (IAI) to

(@) reduce development divide

(b) enhance competifiveness

(c) improve human development index
(d) reduce crime against women

Answer Options :

1) (), () 2) @ ®)(© G @ © @ (© @
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P.T.O.




NO6 48 A

TR 91 fauHite! SR IR T ?

(a) YRAI qYEA ST atd NfYeh ST WA SEe 17% 9RIEE TR, 9=AT 10% 3 S0
THAT FHHIHE R,

*(b) T A qoA TRATSAT TATET TS Seqe Al 3T TR,

Taidt S |

1) F@@ - (@ Fa@@d) . @) W (@) BRTE

Which one of the following two statements is incorrect ?

(a) India is at the top of the World with 17% of the total livestock population. China
comes second with 10%.

(b) The contribution of livestock in India to the national income compared to the other
countries is insignificant.

Answer Options :
(1) Only (a) (2) Only (b) (3) Both (4) Neither

93. 2013 = T TYEA A= S i FHAY SR,
(a) ~ IYEA SAICHAT Al
(b) GHEAYH fa@™
(c) TA-aEHEww
(d) o S formar wHT H
it I
| 1 @ (b) (2) (a), (b) SfT (c)
G @@ : 4) (@) (o) = (d)
The objectives of National Livestock Policy of 2013 include

(a) Improving productivity of livestock

(b) Inclusive growth

(c}) Gender empowerment

(d) Reducing income inequality in rural area

Answer Options : |

1) (@, O (2) (a) (b) and ()
6 © @ (4) (@), (9 and (d)

HeAT HIWHIS AT /SPACE FOR ROUGH WORK
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94, TEId I fauMiat SV @ TR ?
(a) HE MRS HRATET SR et 1987 & 2004 &H FehRIcHS fEa.
(b) & 1995 UG 2003-2004 T SR diel GAR feoqe e,
(1) ¥ () (2) ¥ (b) (@) (4) T

Which one of the following two statements is incorrect ?

(a) Indias Trade Balance with the SAARC countries from 1987 to 2004 was always
positive. :

(b) Since 1995 the Trade Balance has grown about three fold upto 2003-2004.
Answer Options :
(1) Only (a) - (2) Only (b) (3) Both (4) Neither

95. Y& F faurite! FIv I 1R ?
(a) WRAN 1951 <A1 FTHUGHR &4 @ T TORR 1 : 5.3 2.
(b) WRAT 2011 =T SFOTER Y& : AT UK 1 : 2.2 3T,
Tt I
(1) %9 (a) 2 a3 (b) (3) < (4) THE R
Which one of the following two statements is correct ?
(@) As per 1951 census Urban : Rural ratio in India was 1 : 5.3
(b) As per 2011 census, Urban : Rural ratio in India is 1 : 2.2

Answer Options :
(1) Only (a) (2) Only (b) (3) Both (4) Neither

96. WRAE FH ATHYA WA (ICAR) TR@ widHed Heiem anfor it faehagR e yfirst
TSI ST SCRAMES §9 1951 - 2014 1 FIA@ e T2 916 Fel IR,
1) 4 @ 5 (3) 6 “4) 7

The ICAR has played a pioneering role in ushering green revolution in India through its
research and technology development that has enabled the country to increase the
production of food grains __ times since 1951 to 2014.

(1 4 (2) 5 @) 6 @ 7
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- 97. W@wmﬁﬁaﬁw%wmwmmwﬁ.wwﬁ
TR FREEOIEET qfeen Aise 3iae IV asl HIvard ST ?
(1) 2001 (2) 2002 (3) 2003 (4) 2004

Agricultural markets in India are regulated through “Agricultural Produce Market
- Committee Act”. In which year was the first model APMC Act passed in Maharashtra ?

(1) 2001 (2) 2002 (3) 2003 (4) 2004

98. it 2 FaMTATE HIR v o ?
(a) STTEN TUEH THA HROT 0.8 BT MR,
(b) I.TH.3. = T THA YROT RATAT {Ad T 92 e S TR,
Tgidy I :
(1) 9 (a) (2) %9 (b) @) A (4) TS TR
Which one of the following two statements is incorrect ?
(a) Our average size of holding is 0.8 hectares.

(b)  The avefage size of holding in USA is more than fifty times that of India.

Answer Options : ‘
(1) Only (a) (2) Only (b) (3) Both (4) Neither

99. TEi A FaeTrieE ST Fe SR ?
(a) 7T I F Hhaw 12 AfgAwE T .
(b) 9 IR el hae 9 WiE=ITHET fgat W
B i (o
() S (a) (2) Fa (b) @) AT (4) e Iea T
Which one of the following two statements is correct ? -
(a) Short term loans are those that are granted only for 12 months.

(b) Short term loans are those that are granted only for 9 months.

Answer Options :

(1) Only (a) (2) Only (b) , (3) Neither (4) No period is fixed

oAl HTHTETS /SPACE FOR ROUGH WORK
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100. SFFHTAT GHANF A9ed FH A0 Fed SAAE T 4 TFF AUFEA WM ' TRHE
FE fowrE FeEr' 2007 - 08 AL Fo HI0AT ATe.

(a) 1 AreHd wivrrg! fafere sy fasm sTafaa 1=
(b) IR HEH A1 ASHA A T

‘Tﬂ'i’éﬂ‘a?ﬁ'}
(1) 9% (a) A (2) Fa (b) AT
(3) < 4) THE a9 TR

With the object to achive 4 per cent growth rate in agriculture and allied sectors during
11th Five Year Plan, the “Rashtriya Krishi Vikas Yo]ana” (RKVY) was started in the year
2007 - 08.

(@) It does not envisage development of any particular region.
(b) Saffron Mission is not covered under the scheme.

Answer Options :

(1) Only (a) is right (2) Only (b) is right
(3) Both are right (4) Neither is right

101. it gfdfeq, Skl (feeum edl) T, WWW&?WWWW
THIIER 19 e ?
(1) Hefl 13 7 18 =uidie 2200 (2) TS feEar-2200
(3) WAIH HEUR AR 2600 (4)  ATHH! VRS TG

Which daily calorie requirement (k.cal.) is incorrect as recommended by the Nutrition
Expert Group of LCM.R. : 7 »

(1) Girls 13 - 18 years - 2200 (2) P'regnant women - 2200
(3) Lactating women - 2600 (4) None of the above .
102. TR 7 TR FIERT 2013 TS WS Taa0r Jonel qed Mg T HEIT AR
snéwmﬁ T o wod 37 T
(1) 3w faa ) T 1w fwel
(3) T 2vdl fhen 4) T 4w
Subsidised price under Targeted Public Distribution System for wheat is for a
period of three years from the date of commencement of the National Food Security Act
2013.
(1) R 3 perkg. (2) R1perkg.
(3) T 2vperkg. (4) T 4perkg.
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103.

52 A

Tttt Hio! fhaa’ et amras /Il FI0AgE! 9RA §RR ST i ?

(@) SERYQ fh9a

(b) @& T

(c) dufrs ffma

Tt S

(1) (a) A (b) @ @ (3) (b) =fer (o) 4 (©
Which crop price is announced before sowing of the crops by the Govt. of India ?
(a) Support price

(b) Procurement price

(c) Statutory price

Answer Options :

(1) @and(®) () (a) (3) (b)and () @ (

104.

TSI AEAw WIS SREFTEET (@I g Tt S faum s o ?

() A FEFA FFA AeTw FEORG FURE TR L.

(b) mwnwﬁ%ﬂm?ﬁéaﬁﬁa@wﬁw o= W A fed W
Tk 3w |
1 FW@E (2 FES(b) (3) A @) TS

Which one of the following two statements regarding National Mid-day Meal Programme
is incorrect ? : '

(@) Improving learning achievements of school children is also intended in the
programme.

(b) School meals are provided in some areas however take home ration is the norm in
the majority of the states.

Answer Options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither

HoT RIS WM /SPACE FOR ROUGH WORK
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105. 2003 - 13 31 SHI@MAId TRAT=A TSI SATIR T 319 fawd &1 e
(a) frafdita sfmn v wrieR o,
(b) Scnfed axge fratdidie 4T area.
(d) srARhdEadt fafa s

it IV
(1) (a) 3 () (2) (a), (b) 3T (c)
(3) (b) 3o (d) @) (a) =0fU(d)

The composition of India’s Foreign Trade from 2003-2013 shows that :
(a) Asia is a dominant partner in export '
(b) Contribution of manufactured goods in exports has risen

(c) Contribution of petroleum products in exports has risen

(d) Export to USA has increased

Answer Options :

(1) (a) and (c) (2)  (a) (b) and (c)

(3) (b) and (d) 4) (a)and (d)

106. ATHE = WifEd! TAOGT VoA Grele Jare] migdr el S
(a) fafay foesien sramaa fémdt
(b) UTEHIH SFESEES AT [EaT yifeerdt
(c) wIfae SATqferyt fedt
(d) <A IR fowae Afed! Mesl 0 9 FHROT HI0
it S
(1) (a) faum 97 o, 2) (a), (b) faam A7 sTRA.

@) (@), (b), (d) faum @ sEa. @ (@), ), (), (d) faum = .

AGMARK NET is an information system providing farmers with the details regarding :
(a) latest prices of important crops.
- (b) consumers preferences and supply position.
(c) information on global trade
(d) Nation wide market information, collection and dissemination.
Answer Options : o '
(1) (a) is correct statement (2) (a), (b) are correct statements
(3) (a), (b), (d) are correct statements (4) (a), (b), (c), (d) are correct statements
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107. e STaRyE gEier 99 faumiet S arg o ?
(a) o e Yooy & 3 Yehed MIRd Sui=l @H ¥ 10 @G I8 FH IR,
(b) 3 e Yoy TS A Yo SR ST @ T 10 FE I S AR,
it I
1) FBE) (Q FE) @) A (4) T T
‘Which one of the following two statements as per the previous classification is correct ?
(@) Minor Irrigation Projects are those projects which cost less than ¥ 10 lakhs.
(b) Major Irrigation Projects are those projects which cost more than ¥ 10 crores. -

Answer Options : :
(1) Only (a) (2) Only (b) (3) Both (4) Neither

108. Bt & faurite! wivR I TR ?

(a) wzom-wmqﬁmawhwmzmqﬁmm?wsowmﬂmm
= walt A,

(b) gETTERT a 3heT T 4000 3T,

et 3t :

(1) ¥ (a) (2) 2 (b) @) T (4) T
Which one of the following two statements is correct ?

(@) The minimum support price for Jawar Hybrid is fixed at ¥ 1550 for the crop year
2014 - 15. ,

(b) That for the ground-nut is ¥ 4000.
Answer-Options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither
109. F 2012 -13 9T FNIq WD - A= THT IAGA 7 .
(1) 25713 TXEE = (2) 26438 T A

(3) 259.32 WA A | (4) 24449 TY A

The total food grain production of the country during the year 2012 - 13 was

(1) 257.13 million tonnes (2) 264.38 million tonnes

(3) 259.32 million tonnes (4) 244.49 million tonnes

HOAT HIUTATS AT /SPACE FOR ROUGH WORK
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110. ST ASERHTA H Y 318 ?
(a) STETTERICT VYU ST Yo T Saell SRIeaTE T e A,
(b) SATATIRR AW Feiel T HIAA: T Wewdl.
(c) T Ya T@UET Hiesit Saelt .
() A e T,
(1) %@ (b) | @ @) wH
@) @, BT (d)FH | @ (@), () (for@
What is true of the bonded warehouses ? ’
(@) The importer does not have to pay the eritire customs duty at a time.
(b) The importer can take delivery of the goods in parts.
(c) Care is taken that the quality of goods is maintained.. ..
(d) Re-export is poss?ble.
Answer Options : -
(1) (b)only @ @and @) only
(3) (a), (b) and (d) only 4) (@), (b), (c)and'(d)
111. TR HTaF HehraHed FeHifer. s awf =
(a) v &R @ a Fmf
(b) T nfras wEwHE -
(c) VIeKireE STUWEE deer | fmfu
(d) STUTEARTS AT Yare anam?qh TR
(1) () s (o) (2) . (a) =0foT (d) (3) - (b) 3nfT (d) (a) ST ()
Sensitive Nuclear assistance includes : e
(a) assistance in design and construction of Nuclear Weapons
(b) civilian Nuclear assistance.
(c) construction of power reactors and research thereon. -
{d) interstate transfer of weapon grade fissile material. -
Which of the following combination is true ?
(1) (b)and (c) - (2) (a)and (d). (3) (b) and (d) (a) and (c)
T HIWEIE! T /SPACE FOR ROUGH"WORK
P.T.O.
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112. TEACHH! FIQ 97 ¥ TAGHET A1 B G ?

(1) e 2) g (3) s Ay (4) e

Which of the following is not a source of hydrocarbon fuel ?

(1) Coal (2) Wood : (3) Natural gas (4) Gasoline

113. 7T Ter= To9mee §Oed e fedt s 2 . .
1) -50°C @) -10°C 3) -65°C 4) -78°C

What is the average surface temperature on Mars ? :
(1) -—50°C (2) -—10°C (3) -—65°C (4) -—78C

114, feeR TR Weiad! S 7Afer T8 ?
(1) S fayeeta you sua TR
(2) SYUE YETA Yo THG L
(3) IR FHII T T L.
(4) ST AHENA TRU T AR,
What is the limitation of the geostationary satellite ?
(1) It does not see the equatorial region.
(2) It does not see the polar region.

(3) It does not see the Tropic of Cancer region.
(4) Tt does not see the Tropic of Capricorn region

115. IV TG AT SUUE GIeloih! WIereAn T HI Hd Lfa Haen TR ?
(1) 350 fet 3SSiaR 9 35° AR
(2) 250 fwet S=fter & 35° STMfqeR
(3) 350 foet SR T 27° AR

(4) 317 fout I5teR 7 33° Al

Tropical Rainfall Measuring Mission (TRMM) satellite was launched in a low orbit at
a . :

" (1) height of 350 km and an inclination of 35°
(2) height of 250 km and an inclination of 35°
(3) height of 350 km and an inclination of 27°
(4) height of 317 km and an inclination of 33°
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116. EATIH! HIUET ST H TH TR SARH oS et ?
(1) =A®HI () =& I/IIF  (3) =A% [I/IA (4) =% IR
Which of the following is not a GPS satellite generation series ? ‘
(1) BlockI (2) BlockI/IF  (3) Block II/IIA  (4) Block IR
117. U& G sTRaergean fafwol feedide qea aftom o g, qed Td FHore
(1) SHEeaT (2) . TTEshIRd
@) T 4 3=
An important consequence of scattering in fusion plasmas is radiation, which
refers to the process of radiation emission when a charged particle accelerates or
deaccelerates.
(1) Bremsstrahlung (2) Microwave
(3) Gamma (4) UV
Serfergd el T HIORT YO FA AAFE hades qoft F (P,) & @ieierien! SHior

118.

T ool <[ ?

. EIR A P FAX 391
1 = — 2 o = —(/——
1) To = (2) =
T X A7 A X T
® P @ P
' The energy of water per second (P,) required in hydroelectric system to generate electricity
is given by :
Force x Pressure Force x Height
1 Po = r— 2 Po= fime
Force x Velocity Force x Density
3 Po = time ' (4) Fo = time
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119. |95 ROEEH BUE 3 THEH THEF 975 8. GRiats! § HI ?
(1) 'g%ﬁm -233 (2 FFmA-235 (3) FEH-238 (4) ﬂ%ﬁrvm - 239 .

Enriched Uranium means Uranium that is eﬁriched in isotope. Out of following which
one isit? ' I

(1)  Uranium - 233 (2) Uranium - 235 (3) Uranium - 238 (4) Uranium -239 |

-120. siifee ded, fefea @ @ 1 AUl WeF IR,

Q) stdRwm 0 (2 [SMATW () A AETH (4) T FAG
The key element of ___is the geo-referenced, digital map.
(1) GPS (2) DGPS (3) GIS (4) remote sensing

121. @l ekt v oy e s 2
(a) R ST HFHEM AR AT I AT ST FION FHAST fae < 3R.
(b) hered SHIFHTO 3000 Rfgeh < JRFm Jurr 10 Tufd ot SR TR
i 3
(1) +9% (a) ‘ 2 9% (b) 3) (4) THE R
Which one of the following two statements is correct ?

~ (a) Canadais the third country to supply Uranjum to India, after Russia and Kazakhstan.

(b) As per the agreement it will provide 3000 metric tonnes of Uranium over the coming
10 years. |

‘Answer Options :
(1) Only (a) (2) Only (b) (3) Both (4)  Neither

L7

—122. R ol AafeverTet ST AT WA HrT Tere Tt WK Sl Qoo b w2

;- (1) disar= vgt (2) w A (3) I ®wH (4) fearem
l i In case of domestic solar water heaters, which is the best solar absorber ?
i (1) Cu plate (2) Black paint (3) Black chrome (4) TINOX
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123. ST Heiod Heol ST o hrd HIOR fooe e shiorar e 311 ?

1) 3=is ) S 3) Srfk | (4) e

Which nation has the best configured and operated electricity grid in the world ?

(1) England (2) Germany - (3) America (4) Russia

124. G SR el Siawer 1 Ufshaa el S9Iqd HIvaTeh Rl SR S0 J 91 §
Gicield &€ 9Iuft ATdtel arqHM FEhTEl a9 hefl Sl
1) 1 e 2) 1.2 f&Ht (3) 2 feut (4) 3.5 f&et

Ocean Thermal Energy Conversion (OTEC) process makes use of the difference in
temperatures of warm surface water and very cold water at a depth of

(1) 1km 2) 12km () 2km (4) 3.5 km

125. ST V QUUTEATE R &9 fohdl oTR ? |
(1) 3500 few. (2) 2000 fewsl. (3) 5000 fers. (4) 5500 feret.
What is the range of Agni V missile ?

(1) 3500 km (2) 2000 km (3) 5000 km (4) 5500 km
126. 1 el Fohte fretaed Aifedt 9 Soweed dagrra 3Ar, wd fowmf, g, wd
I HIAT. -
(1) RS HiegdT (2) TR BT
(3) fesdi=qee wirgdim (4) fire wfegEh

is a new generation of computing, which takes into account the environment
in which Information and Communication Technology is used everywhere, by everyone
and at all times.

(1) Mobile Computing (2) Pervasive Computing
(3) Distributed Computing (4) Grid Computing
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wwmmm‘mmmmmaﬁﬁmmm -

ﬁa‘ﬁmmmiﬂammm
1) WWAT (2 WIAFH (@) AR (4 G4

When a mail transfer program contacts a server and forms a TCP connection, the two
programs follow the that allows the sender to identify itself, specify a recipient |
and transfer an e-mail message. ,

(1) SMTP @ HTTP (3 FIP 4 TCP

128.
I/ Ted FA. T AT A s, fasmrae nftn ol wedt sy arefd.
(1) el o 2 T TE (gERA TaiET )
(@) stTgd+d - (@) ST R
is an application that allows a user to interactively analyse the data. This
apphcahon increases the productivity of business managers, developers and that of the |
whole organization.
@ OLAP DR (2 TPS (Transaction Processing System)
3 OLTP | (4) Data Mining
129. mwmwwmmﬁwmwwmm

W/W‘WWW@WQ—WWW.
(1) d AT 2) feei
FEEsR (4) feasw fmeitn

is a type of cyber attack in which e-mails are sent to a large number of people
asking sensitive information or encouraging them to visit a fake website.

(1) DOS - (2) Phishing

(3). Ransomware 4) Spear-phishing
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130. Wifedt TR HESH 2000 374 G0 BT Hedrd Tamet TR,

(1) HAE 2 T8 G for/ sTeat w9 1 o T EE.

(2) U 3 Y GETEW A0/ A FH 2 T TR TS,

(3) A 3 T8 TEIATE 3T/ STTal FAE 1 T1E T4 <8,

(4) U2 9 GEEE 307/ S FA 2 T T TS,

According to IT Act 2000, punishment for hacking the computer system is
(1) imprisonment upto 2 years and/or fine upto 1 lakh rupees.

(2) imprisonment upto 3 years and/or fine upto 2 lakh rupees.

(3) imprisonment upto 3 years and/or fine upto 1 lakh rupees.

(4) imprisonment upto 2 years and/or fine upto 2 lakh rupees.

131.

(a)  TEIOTIR FAETUE WeRAT Y 4T fefararen wiHen sreiefa o

TS qF faumiet HIvR 9 3T ?

(b) = & UiHAT Faw did F WATEE! J9ar.
i I

) ¥ e @) ¢ T @ TR

Which one of the following two statements is correct ?

(@) The process of solubilization and extraction of metals from their ores by the micro-
organism is known as Bioleaching.

(b) The process at present is used only for copper and gold.
Answer Options :

(1) Only (a) () Only (b) (3) Both (4) Neither
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isz.ﬂw@aw@mmwwﬁ.waﬂﬁmﬁaﬁm.ﬁ
? | - .

(a) T ATE-T-HIE & TEL.

(b) TG T RN T T WHA L,

et v

(1) &S () @ & () ® ¥ @ wE

Fruit bats are thought to be the natural Ebola virus hosts. Which one of théfollbwing two
statements is correct ? : )

(a) Ebola also spreads through human-to-human transmission. >
(b) However a dead human body cannot transmit Ebola.

Answer Options :

(1) Only (a) @) Only®) (3 Both @) Neither |

133. IE g9 fAaMids! v 9 o7 ? e :
(a) TauTofen Toe SeATER WA Wofhe GRE JueigR Sfdsest (Sidemiet) ffifd &,
(b)) FHR W FOMIST ST AR B
i vt |
1) ¥ () @ Y@ @ T @ wEw

. Which one of the following two statements is correct ?

(a) Antigens are produced as body’s first line of defence against a viral.attack.
(b) Antigens are used to fight cancer. |
Answer Options :

(1) Only@  (2) Only (b) (3) Both (4) Neither
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134. Gt feoen gataie B IRAWE) T YHIER SIhig 95d Hholedl Yo
S, ITHY IS FAel FSRIGR FIR I, Heal FHIIMER ST goeishiiar foeme ety
. wﬁm,mw%ﬁwmﬁmﬁwmﬁamwwmwﬁﬁ

(1) gA:EIrft €A, T HearR |
(2) IH gewdt et SHeran Wit
(3) S Attt " afhd
(4) TETF 3 e whirdt

From the options given below, is constituted to permit large scale production
of rDNA products, as well as use of genetically engineered organisms, research and
development of rfDNA, release of genetically engineered organisms into environment and
making use thereof in India.

(1) Recombinant DNA advisory committee
(2) Review committee of genetic manipulation
(3) Genetic enginéering approval committee

(4) Institutional biosafety committee

~ 135. (@A 3 faumitst FivR g o ?

(a) ¥ IR Wafda St 9 Yot wRfavaran Ygde HRIGHETH .

(b) Y HaH —4°C A1 AGHEER &t .

i W .
(1) %92 (a) (2) oS (b) (B @ (4) AT
Which one of the following two statements is correct ?

(@) The technique of preserving tissue or cells by freezing and storing in liquid nitrogen
is called as cryopreservation.

(b) The preservation is done at the temperatures of —4°C.
Answer Options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither
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136. Wielierda! FHord! Yiwan € emuery qifem Savamsiar 9 o ?

(1) o fenomeert - (2) EEEY THEG AR
(3) e sms A (a) Sl o AT
Which of the following methods is the most suitable for the preservation of food
products ?
(1) Gamma ray irradiation " (2)  Exposure to liquid N, Nitrogen

(3)  Treatment with Ethylene oxide (4) Exposure to ethylene vapours

137. T < faumits! Sivr I o ?
() IR e e T fro < e w
(b)  FeriEreri 3 et o S B o,
e |
1) ¥ () @ ¥ () @ ¥ (@) @
Which one of the following two statements is correct ?

(@) Gregor Mendel performed the experiment of inheritance on the plant of pigeon pea.

(b) Pig is the focus of most effects in the field of Xenotransplantation.

Answer Options :

(1) Only (a) . (2) Only (b) (3) Both (4) Neither
T ¥ SRR g aifE (S wewEs smife) T
(1) RAFw @) TeeIwE @) (@

is not a Geneticélly Modified Organism (GNO).
(1) Bt Cotton (2) Golden rice "~ (3) Tracy (4) Pomato
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139. YEid g faumident wivd F g ?

(a) ST Tshad! A1 WS SAfehal! HISIHRS Geasiaarst (FEmH™ TWsir) gayem
¥z faamt.

(b) TS q ARG BIHIYE HEHTET HH HG B,
et I
(1) +93 (a) 2) F93 (b) 3) < (4) THE

Which one of the following two statements is correct ?

(@) The first scientist who was granted a patent for genetically modified micro-organism
(Pseudomonas aeruginosa) is Ananda Chakrabarthy.

(b) He was then working for Wackhardt Pharmaceuticals.
Answer Options :

(1) Only (a) (2) Only (b) (3) Both - . (4 Neither

140. &I 3 fagmide FOR @ R ? |
(a) 2003 |ret YA s WWWWWW .
(b)’ et (%) 3 Bt cotton WA STGVITHET ST Ha. o
wh |
(1) ¥ (@) @) ¥ () @) I (4 T
Which one of the following two statements is incorrect ?
(a) Commerciél cultivation of Bt Cotton in India was approved in the year 2003.
(b) Ranbaxy (Mumbai) imported Bt cotton to grow in Indian soils.

Answer Options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither |
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141. WWW&WWWWQ—EQWW
(1) Sl STqaiE wiedaed 97 95 TS
(2) foumy =0 sraifire Afedaesd Iqa g
(3) Totamy = ST Afedved see we.
(4) iten Yefien afeRommed 9ga frafor &,

Gene Therapy is used to treat diseases by :

(1) modifying genetic information ih the cells of patients.
(2) modifying genetic information of the viral genome.

(3) modifying genetic information of the bacterial genome.

(4) modifying the cellular environment in the patient.

142. i 7 faumit=t SR & R ?
() FRTHTS-Iohd T A o i el
(b) AT HfHTR TR THQ & A WA T
) ¥ @) (2) ¥ (b) @ W @ @
Which of the following two statements is incorrect ?

(a) The causative agent of the Creutzfeldt Jacob disease causing brain abnormalities
was identified to be a protein.

(b) They are without nucleic acid and are called as Prions. |
Answer Options :
(1) Only (a) -(2) Only (b) (3) Both (4) Neither
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143. & o9 faumidet S 9 TR ?
(a) Wasﬁaﬁ6:4mﬁmWannﬁwgwaq@a‘ra?‘r"wwﬁ'

.
(b) S HiGT YO AT ScqIa FEA aTeT SHT I ATl
T 3
(1) 9% (a) (2) 9 (b) @) TR (4) AT

Which one of the following two statements is correct ?

(a) Mixing gasolene and ethanol in a 6 : 4 ratio has become a popular fuel in mid western
United States.

(b) Brazil produces and uses large amounts of ethanol as an automotive fuel.
Answer Options :

(1) Only (a) " (2) Only (b) (3) Both (4) Neither

144. &S <9 faumidet wiv S R ?
() HETEM TS AERURIE AT T ST 2h.
(b) T ST @ fer fade FER TR SiteTES AT,
vt 3T : | |
(1) 5 (a) (2) % (b) @) = ) THE TR
Which one of the following two statements is correct ?

(@) An-increase in carbon dioxide in the atmosphere leads to Global Warnﬁng.

(b) Global Warming itself may lead to an increase in carbon-dioxide because of melting -
of ice caps.

Answer Options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither
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BT 0T/ HIV Wl St Y FeareTac! faxia g FHidm/ i ?
() QA Tl feeeh

(b) THLIARSA. Tt feeedt

© s o feeet

(d) TR, Tt et

ot I

1 (a_)” 2 (a), (b) (3) (@) (b)) 4) (), () (), (d)

* Which of the following funding agencies promote/s Biotechnological research in India ?

(a) DBT, New Delhi
(b) SERB, New Delhi
(¢) UGC, New Delhi
(d) ICSSR, New Delhi

Answer Options :

146.

1 @ ) (@ ®) @) @, ®) () @) @, ®) () @
: W%W@ﬁ I WA, gaéﬁzﬁaﬁamﬁ%aﬁ 261 27 e, 2005 AT ST 24 AEAT
HeM . . e AT Felt .

(1) - 986 () 944 @) 926 @) 912

Indlan Meteorological Department (IMD) station at Santacruz (Mumbai) had recorded
‘mms of rain in 24 hrs during 261 and 27t July 2005.

(1) 986 Q) 944 3) 926 4) 912

147

WieTeTden! VT SR, 26 TEQaR 2004 JsT AT GAHT Tir=T IO el e ?
(1) qFds (2) wafemEn (3) ¥Rd - (4) HEH

Which of the following countrles was not affected by Tsunami waves of 26th December
2004 ?

(1) Thailand (2) Malaysia (3) India (4) Srilanka
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148. WWWWWHWW%WWW

feie
(a) 8 H<aX 2006

(b) 26 St 2008
(c) 29 JRIEX 2005
(d) 25 HATE 2007

agie Sl

@@ () () (@
) @ @ ) @)
) @@) @@ @) (@)
@) (v) @ () ()
4) (@) @Gv) @) (@)

FEERIE FRT WQ9T & Jo
AEHTECHEY 17 ST aThIE mfaﬁ 29 QT
7 9 100 ST@Ht

STaRE e 3 ST S

AR 42 A g, ‘
TERI I AIAMEHed neidiseas deed

SFEEhIE Hiferdhd 37 Ahi=T e o 125 SEH.

70 Sehidl g, ’

Match the following pairs correctly and select the correct option given below :

Date
(a) September 8, 2006

(b) July 26, 2008
(c) October 29, 2005

(d) August 25, 2007

Answer Options :

@ b (@ (@

1) O @ @) @)

(2) @) (@) @v) ()

@) @) (@) @) ()

@) @) @) @ O

()

(iv)

Areas of Bomb blast and deathé

29 persons killed and over 100 injured in 17 .
serial bomb blasts in. Ahmedabad.

At least 42 persons were killed in bomb
blasts in Hyderabad’s Lumbini Park and a
restaurant. -

Over 37 persons kﬂled and 125 m]ured ina
series of bomb blasts in the vicinity of
mosque in Malegaon, Maharashtra

Three powerful serial blasts in New Delhi,
about 70 persons died. '
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149. WWWWWWWWWWWﬁ? ,
(1) YRES® IV (2) ufHE® V (3) vl VI (4) ufdges VII

Encircled areas in the map indicate which seismic zone according to Indian Standards ?

(1) ZonelV (2) ZoneV (3) ZoneVI (4) Zone VII
4% s'c" )2:’ . n: ag’ ‘ u:" 88° 92° 96° 00%¢
1 N INDIA s
hodily) SEISMIC ZONES
rinagar ;

' According to Indian Standards Ist 1893-1976
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e BENGAL . L
»

E ] ; 1

2%~ < .

- * $XH

. |
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150. qEIe I faummdst v 9 e 7R ?
(@) T 9 R AW THAS SATAE! 92 3R,
(b) TE AT IW AN T 3.
i I |
(1) 9 (a) 2) S (b) (3) = (4) TR
Which one of the following two statements is correct ?
(a) Barren Island is the only active volcano in India.
(b) Barren Island is located in the North Andamans
Answer Options :
1) Only (a) (2) Only (b) (3) Both (4) Neither
-00o0-
‘el SIS @I /SPACE FOR ROUGH WORK
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ol — (78 1 767 J8....)
® W@ﬁﬁamwwmm(wﬁ)m THYfehefaied Satufhat a1
TR FIRER F S Heard § Hd F0Ir A FO 3R, 3R AHS TS AMER IHEANE

WEAH TR Fe  rdeined Qo IRyeri widey wvararees sifyfE-82 " Ao TREEiTaR SR
WWHWWW@WWWMW@WWWW
S B,

() wmwmm%WméWWWﬁWW
UEHT TIE GE SR, mﬁmmmmsﬁ@mﬁmmm— |
m&ma%wﬁmwmﬁmm%

hbilib el
TAFAF 201, AR A@ T FoAdST Fof qod: v FS?
1) e T | (@ ¥ framR
@ T T @ e e |
T I A IR (3) T T A o . T WA IW ()" e T
. AU T . 201 Tl SW-FAE (3)"! ¥ TP Ot Sl A i Had |
. |

%20 D @ . @

mmwmmmwmamwm
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